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Calculs  Corrections ?  

10 - 5 =____  ____ j k  

10 - 6 =____  ____ j k  

5 - 3 = ____  ____ j k  

10 - 7 =____  ____ j k  

10 - 8 = ___  ____ j k  

9 - 5 = ____  ____ j k  

4 - 4 = ____  ____ j k  

5 - 2 = ____  ____ j k  

10 - 9 =____  ____ j k  

7 - 5 = ____  ____ j k  

l Résous ces opérations le plus vite possible :  

validées.eklablog 
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Calculs  Corrections ?  

10 - 5 =____  ____ j k  

9 - 6 = ____  ____ j k  

10 - 8 =____  ____ j k  

10 - 6 =____  ____ j k  

8 - 4 = ____  ____ j k  

9 - 5 = ____  ____ j k  

8 - 3 = ____  ____ j k  

10 - 2 =____  ____ j k  

9 — 4  = ___  ____ j k  

4 - 2 = ____  ____ j k  

l Résous ces opérations le plus vite possible :  

validées.eklablog 
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Calculs  Corrections ?  

3 + 8 = ____  ____ j k  

10 +4 =____  ____ j k  

9 + 3 = ____  ____ j k  

4 + 8 = ____  ____ j k  

10 +1 =____  ____ j k  

6 + 5 = ____  ____ j k  

10 + 2 = ___  ____ j k  

5 + 5 = ____  ____ j k  

10+ 6 =____  ____ j k  

10+5 = ____  ____ j k  

l Résous ces opérations le plus vite possible :  

validées.eklablog 

Période 4 
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Calculs  Corrections ?  

6 + 5 = ____  ____ j k  

8 + 4 = ____  ____ j k  

10 - 5 =____  ____ j k  

6 - 4 = ____  ____ j k  

10 + 7=____  ____ j k  

7 - 4 = ____  ____ j k  

9 - 5 = ____  ____ j k  

9 + 5 = ____  ____ j k  

7 + 6 = ____  ____ j k  

8 - 3 = ____  ____ j k  

l Résous ces opérations le plus vite possible :  

validées.eklablog 
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Calculs  Corrections ?  

5 + 9 = ____  ____ j k  

10 + 8=____  ____ j k  

10 - 3 =____  ____ j k  

8 + 5 = ____  ____ j k  

7 + 4 = ____  ____ j k  

8 - 3 = ____  ____ j k  

10 +5 =____  ____ j k  

9 - 4 = ____  ____ j k  

8 - 7 = ___  ____ j k  

9 + 6 = ____  ____ j k  

l Résous ces opérations le plus vite possible :  

validées.eklablog 
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Calculs  Corrections ?  

10 - 7= ____  ____ j k  

9 - 7 = ____  ____ j k  

10 - 5 =____  ____ j k  

4 - 1 = ____  ____ j k  

9 + 9 = ____  ____ j k  

6 + 8 = ____  ____ j k  

7 + 5 = ____  ____ j k  

8 - 7 = ____  ____ j k  

10 +9 = ___  ____ j k  

9 - 5 = ____  ____ j k  

l Résous ces opérations le plus vite possible :  

validées.eklablog 

Période 4 


